Review Packet for Exam #1

Fall 2021, Math 121, Professor Danielle Benedetto

Derivatives: Compute the derivative for each of the following functions. Do not worry about
simplifying your answers:

1. f(x) = arcsinz - arctan z + arctan(sin(lnx))

o
2. Mw/#%%% Skip this one

3. f(z) = sin (erresine’)

4 f(x)=1n (1 _ arcsin <;>>

5. Compute f”(z) where f(x) =1In(1 — x).
6. Compute f”(x) where f(x) = arctan(3z).

7. Compute f”(z) where f(x) = arcsin(4x).
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15. Prove, using Integration, that dx = arcsin (%) +C
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Limits: Compute each of the following limit.
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Integrals: Compute each of the following integrals.
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